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NIK4

E1/49

10.1.1.0/24

10.1.1.0/24

NIK3

NOK1
10.1.1.0/24 301.1.0/24 10.1.1.0/24 Redistributed into OSPF

10.1.1.0/24 Redistributed into EIGRP AD=170 AD=110

N9K2 will prefer path to 10.1.1.0/24 via N9K3(OSPF Path) because of lower AD

712 %

Show IP Route Output on N9K2 before you apply Table-Map shows OSPF path is selected based
on Lower AD to N9K3 via E1/4.

NOK2# show ip route 10.1.1.0

I P Route Table for VRF "default"

'*' denotes best ucast next-hop

"**' denotes best ntast next-hop

"[x/y]"' denotes [preference/netric]

"U<string> in via output denotes VRF <string>

10.1.1.0/ 24, ubest/nbest: 1/0

*via 10.10.10.6, Ethl/4, [110/1], 00:41:45, ospf-100, type-2, tag 200

via 10.10.10.1, Ethl/1, [170/2562816], 00:44:00, eigrp-100, external, tag 200
NOK2#
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NOK2# configure terminal

Enter configuration conmands, one per line. End with CNTL/Z.
N9K2(config)# ip prefix-list test seq 5 permit 10.1.1.0/24
NOK2(confi g) #

2. prefix-list test2t L XA B2 WS HETD HEIE §steE U2 MHEFLICH



NOK2# configure terminal

Enter configuration comrands, one per line. End with CNTL/Z.
N9K2(confi g)# route-map test permit 10

match i p address prefix-list test

NOK2( confi g-rout e- map) # match ip address prefix-list test
NOK2(confi g-rout e-map) # set distance 90

NOK2( confi g-rout e- map) # end

NoK2#

3. Ol route-map& 2t E ZZEZ20] table-map2 £ X &tL|C}.

NOK2# configure terminal

Enter configuration commands, one per line. End with CNTL/Z.
NOK2(confi g)# router eigrp 100

N9K2(config-router)# table-map test

N9K2(config-router)# end

NOK2#
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NOK2# show ip route 10.1.1.0

I P Route Table for VRF "default"

"*' denotes best ucast next-hop

"**' denotes best ntast next-hop

"[x/y]' denotes [preference/netric]

"U<string> in via output denotes VRF <string>

10.1.1.0/ 24, ubest/nbest: 1/0

*via 10.10.10.1, Ethl/1, [90/2562816], 00:00: 04, eigrp-100, external, tag 200
via 10.10.10.6, Ethl/4, [110/1], 01:05:52, ospf-100, type-2, tag 200

NOK2#
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